Some abbreviations used in grading

IDF:  This stands for “I don’t follow.”  But what it really means is, “You’re not being sufficiently clear”, or “You haven’t argued this in a manner that a reader can comprehend very well.”  In other words, perhaps I do indeed “follow” to some extent; maybe I see what it is you’re trying to say.  But you need to think about why it is that what you actually said is less than clear. 
Then again, sometimes it really does mean that I can’t quite comprehend your argument. 
NS:  This stands for non sequitur, a Latin phrase that means “does not follow”.  For example, “I like pecan pie.  Therefore, it will rain today.”  The conclusion is not a logical consequence of what precedes it.  

SS:  “See solutions.”  (If this is the only marking on the page, but you’ve been heavily penalized, then that indicates that your work is so far off the mark that it would take way too long to critique it in detail.  In that case, there’s not much else to say except, “See solutions”.)   

NP:   “No penalty.”  Sometimes we may object to something that you wrote down which is incorrect, but there is no penalty because it deals with some issue that is not germane to the concept being tested, or because it isn’t having any negative impact on your solution to the problem.  So we’ll put NP to make it clear that that part of what you wrote is not affecting your score adversely.  Whatever points you lost were due to something else.  For example, let’s say that the problem involves the expression 
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 and somewhere on the page you write down that this equals x - 
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.  But let’s suppose you never used the latter expression in your work anyway, and so it ended up not really mattering.  Then we might circle the erroneous equation and write NP so you know that whatever points you lost were because of other errors.  

On the other hand, if you did use the latter expression, then the mistake may end up hurting your score considerably.  For instance, if part of the work is to take the derivative of  
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 and you take the derivative of  x - 
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 instead (which would just give you 1) and proceed from there, then you may end up with a much simpler problem to solve than the real problem.  And so in that case, you may suffer a considerable penalty because your algebra error robbed you of the opportunity to demonstrate your understanding of the actual problem to be solved.

But on yet another hand (huh?), suppose that error leads to your having to solve a problem that is harder than the real problem and still requires you to demonstrate all the conceptual mastery that you would need for the real problem.  Then you might get an NP and an SS, the latter so you can see how your wrong turn led you into a different problem.

WWTN:  “Where was this needed?”  Occasionally, the statement of a problem includes information that is actually irrelevant to the solution.  In such a case, we want to know that you can separate out that information.  Call it a “trap” or a “dirty trick” if you want … but hey, have you ever heard of an obstacle course?  Sometimes the agility required to steer around obstacles is an important part of learning.  But such “traps” are only set occasionally.  And if you really understand a concept, then it will be clear to you why that “obstacle” is there.  

But usually, all information given in the statement of a problem is actually essential for a valid solution.  So if you have what you allege to be a correct and complete solution, but there’s some piece of information that you never used, we might circle it and put WWTN.  The message is that you should have noticed that you never incorporated that information … and that should have made you suspicious of your work.  And speaking of self-evaluation …

CTAE:  “Clue to an error.”  Sometimes your “final solution” could not possibly be correct, but you don’t notice because you’re not really paying attention to what your results mean.  For instance, suppose you are asked to find the volume of something and it requires computing an integral, and according to your work the value of the integral is negative.  Well, then … how could it correspond to a volume?  That is your “clue to an error” somewhere.  Or let’s say you are supposed to sketch the graph of a function, and according to your sketch, the graph has two points where the tangent line is horizontal.  But according to other work on the page, there is only one value of x where f’(x) = 0.  That inconsistency is your CTAE.          
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